usl*CurMon:Entry$

wn
|

usl*CurMon

i
A LE

LG L LR

a4 ame

L,
1 b Py b T Agorgorge ToJF- F =3 a

g AR

run6585 000 maindet usl.png

400 450

Entry$

x10°

usl*CurMon {ErrorFlag==0}

12000
i Entries 120259
10000
B Mean 4552
8000 i otd Dev  0.07918
6000 —
4000
2000
D_|||||||J.+-1'"i‘|_r“|‘ﬂ+-_||||||| EEE NI RN NERN
4 41 42 43 44 45 46 47 48
usl*CurMon

15000

10000

5000

asym_usl/ppm:pattern_number {ErrorFlag==0}

b
-

T A ¥ ¥
{ 1K ]
M 0 K

pattern_number

0 / H
—2000 - % 5 K
ul % 1 %
b 3¢ 3%
i %
10000 — L
B ] ] | ] ] ] | ] ] ] | ] ] ] | ] ] ] | ]
0 20 40 60 80 100

x10°

asym_ usl

= Entries 30009
400~

B Mean 0.6493
350 — Std Dev 1449

Underflow 1710
300 ﬂj

i Overflow 1727
250 “ LL
200
150 —
100

B L 1 1 1 | I I | I I | L 1 1 1 | L 1 1 1 | I I

~3000 -2000 -1000 O 1000 2000 3000
ppm




asi Lurmvion

_._.,..._.,..__._._.____.,._.._.,.._.._.,.._.._._.,_._._.._.._.,.._.._.,.._.._.._.._.._.._.._.,.._.._.._.._.._.._.._.._._____
Jdek Sele@z00z00L. SHEOI@REE00IREE0ZES0EI00000.80020200020E0002

dsl*CurMon:Entry$

III|III

0

50

100

150 200 250 30

cal  chmmdE . b d.

Eoed

T
LT

0 350 400

run6585 000 maindet dsl.png

450
Entry$

x10°

7000

6000

5000

4000

3000

2000

1000

0

dsl*CurMon {ErrorFlag==0}

I N

evilree

Entries 120258

Mean -3.822

Std Dev  0.01307

_ILI|III|||

-3.88-3.86 -3.84-3.82 -3.8 -3.Y8 -3.76-3.74 -3.72

dsl*CurMon

asym_dsl/ppm:pattern_number {ErrorFlag==0}

1500

1000

lmgml T

500

o

3%

Ko KT X

A A4
s
HE AR

e

|
| W

[ =

e

500 f
i % | 11 1111
1000k % R
N ot 5 5 g:&:}: Y 5
i 2 MO i
X X
- %
- % :x
-1500— | | | A | Ll
0 20 40 60 80 100
pattern_number

x10°

asym_dsl
- Entries 30009
2200
- Mean —4.931
2000
- Std Dev 327.2
1800
1600 - Underflow 0
1400 Overflow 0
1200
1000
800
600
400
200
D:IIII|III IIII|IIIIIIII|IIII
-3000 -2000 -1000 0 1000 2000 3000
ppm




USr*CUFMOn:EI‘ITFY$ usr*CurMon {ErrUrF|ag== } asym_ust/ppm:pattern_number {ErrorFlag==0} asym_usr

evilree ! 450 Entries 30009

Mean -5.687

12000 Entries 120259

10000 — 400
B s

Mean 4 67 ; b o 350

usr*CurMon
n
|

Std Dev 1427

10000 Underflow 1498

5000

otd Dev  0.06733 Overflow 1470

8000

|

o3 E.-

_....._.,..._.,.._.,..._.
T 1

6000

4000

R R R L
Fr b = PP e T =y Py - Tu ]
e B, LAY

% : §}{ : 300
250
%HH% %%%% -

— 1 T 1 | L | L | L | L | L | L
-
| | | | EE gy | | |
1 1] I
A e T I |
{1

' i N R : -5000 * 1 150
Fiil %% = 2000 -
D__; :“Illlldl H1U3 D i | l E1US _I 1 | |I [ | I|I | | I| | | | I| | | II| I

I|I IIh*TTTjﬁLLllllll |IIII| L 111 l II|I JDDDD l 1 l | 1 l l | l l 1 | l 1 l | 1 l l
400 450 2 43 44 45 46 47 48 49 0 20 40 60 80 100 -3000 2000 -1000 0 1000 2000 3000

Entry$ usr*CurMon pattern_number ppm

0 B0
run6585 000 maindet usr.png



asr-wurivion

L
S Tawn Wy
OE@a0Ea0002000:EEE0

._.,.._.._._.,.._.._.,.._.._.._.._.._.._.._.._.._..__
EOOEEOESEO000 0000000

Ol 0202000202050

II|IIII|II ol

dsr*CurMon:Entry$

0

50

run6585 000 maindet dsr.png

100 150 200 250 300 350 400 450

Entry$

x10°

6000

5000

4000

3000

2000

1000

0

dsr*CurMon {ErrorFlag==0}

evilree

Entries 120258

Mean -3.766

Std Dev  0.01367

I|ILI|III|

-3.82 -3.8 -3.78 -3.76 -3.74 -3.72 -3.7 -3.68 -3.66
dsr*CurMon

asym_dsr/ppm:pattern_number {ErrorFlag==0}

1500

TR T 1
=

1000

500

| W

| R
4

|
| R W

4

I =
{ %

ROV

D_ H HH HHH H H

-500 -

~1000 |- LL111] Ll 1l]l
8 X §§ % e x§§§
. %% X Tk
B x %

~1500 - X x
[ L | I | T
0 20 40 60 80 100

pattern_number

x10°

asym_dsr

2000 — Entries 30009
1800 f— Mean -0.9369
‘Iﬁﬂﬂf— otd Dev 380.8
1400 f— Underflow 0
12nnf— Overflow 0
mnnf—

annf—

Ennf—

4nnf—

EDDE—

D:|||||||| A R A NI A
—-3000 -2000 -1000 0 1000 2000 3000
ppm




yield usl:pattern_number {ErrorFlag==0}

0.032

0.0315

0.031;

0.0305

0.03F

0.0295

0.029

0.0285

0.028

|IIII|IIII|IIII|IIII|IIII-,'|:

DDE?S 1 | | 1 1 | l 1 | [ 1 1

run6585 000 pairTree usl.png

80 100
pattern_number

x10°

6000
5000
4000
3000
2000

1000

D

yield_usl {ErrorFlag==0}

Lot leaa by

htemp

Entries 60053

Mean 0.03071

Std Dev  0.000499

0279.02%.028%.029.02950.030.0303.030.0313.032

yield usl

25000

20000

150001
100001

5000 'L

5000 17

10000 {

15000

20000

asym_usl/ppm:pattern_number {ErrorFlag==0}

T 1 151 1 11
i

I — ¥

W /0 —— W

PO 0 ——%
Mo P I A ¥

PO —HEOW W
I I I

I i il I |
WO T

- T T 1001

l
80 100
pattern_number

x10°

4000
3500
3000
2500
2000
1500
1000

500

9

asym_usl/ppm {ErrorFlag==0}

PairTree
Entries 60053
Mean 2.39
Std Dev 3451

|_IIII|IIII|III

006a 5000100085000 0 500010000500@000@5000

asym_usl/ppm



yield_dsl:pattern_number {ErrorFlag==0} yield_dsl {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl/ppm {ErrorFlag==0}

02555 2900 h p = i .
5 : tem sooof | o PairTree
0.0256)- 2000F Enries 60053 T 1 M 1T -7 : Enries 60053
- ! 1800 2000+ 1400~
02565+ - I -
g 1600 Mean  —0.02579 : 10001 Mean -4.909
0.0257 : 1000, ! -
1400 Std Dev 5.386e—05 I 1000 Std Dev 1039
02575 1200 oBE & S o111 5| 13 -
f - I 800
0.0258 f§ '% 1000 : -
o0 2000 : 400~
: R - - Ly 200/
02595 200 — 3000 — 1 1 i
:III|III|III|III|III|I:":1[]3 D:II|III II|IIII|IIII|IIII|IIII|IIII| IIII| _III|III|III|III|III|I:":‘IDS D_Illll I|IIII|IIII|IIII|IIII|I I|I
20 40 60 80 100 —0.020.025950280025450288025750297.02565028602555 0 20 40 60 80 100 000 —2000 -1000 O 1000 2000 3000
pattern_number yield_dsl pattern_number asym_dsl/ppm

run6585 000 pairTree dsl.png



yield_usr:pattern_number {ErrorFlag==0} yield _usr {ErrorFlag==0} asym_usr/ppm:pattern_number {ErrorFlag==0} asym_usr/ppm {ErrorFlag==0}

0.0331 8000 ntem D : 00 PairTree
- - 15000 - xTX .
0.0325 ~ A : 5 3% B
S 7000 Entries 60053 i x X712 3000/~ Entries 60053
: - [ x i
0.032F— : - 100007 % % i
l 6000 - Mean 0.03151 _ y }{g?{;ﬁﬁ T W5 2600 Mean  —6.652
| X S K |
D.0315 : - 5000 | -
5000 Std Dev 0.0004158 I | | X Std Dev 3376
0.031 : - 2000~
- 4000~ ok | :
0.0305 B I ! 1 1500
§ 3000 -5000 | | i
0.03 - l %}: ;{%;{ KX -
B B . K, 1000
| | 1 K - O |
- 2000¢ 10000 {- 8 g -
0.0295FH i - ' - % g i
_ - L || i
- 1000~ i X < 5001~
0.029 — B 15000 & e i-- B
:III|III|III|III|III|I:"C:‘IUS D_IllL-rI"TJ_Fh_‘Ihl-—Lll | |II| ||IIII| _III|III|III|III|III|I'.:"":‘“:r'3 D_IIII IIII|IIII|IIII|IIII L|I|
20 40 60 80 100 0.0290.0295 0.0 3050. DB‘I 3150. D 03250.033 0 20 40 60 80 100 -15000-10000 -5000 0 5000 10000 15000
pattern_number yield_usr pattern_number asym_usr/ppm

run6585 000 pairTree usr.png



yield_dsr:pattern_number {ErrorFlag==0} yield_dsr {ErrorFlag==0} asym_dsr/ppm:pattern_number {ErrorFlag==0} asym_dsr/ppm {ErrorFlag==0}

! : htemp I 2500 PairTree
a P p .
2000— B P 3 P
- - 2000 X 2 - _
0.0252— N Entries 60053 : o W elele TV e o3e - Entries 60053
- 1800 — i 3¢ X ﬁg}{x:ﬁ:x% B K M;{E -
i - - TETETTT TTTT 22577 2000—
I 1600 Mean —0.02541 - i Mean -1.018
0.0253}1 - 10007 I
; 1400 — I i
C Std Dev 7.404e-05 1500 Std Dev  534.6
1200 i i
0.0254 - 0 ]
1000 — - I
! 800 I 1000 B
0.0255¢* - —1000 H- -
% 600— - ]
0.0256 - 2000 x X 5% X i
200 a B % a
III|III|III|III|III§|I'.?""3:‘“‘:."3 D:I|I IIII|IIII|IIII|IIII L1 | _III|III|III|III|III|IH‘IUS D_IIIJ_ II|IIII|IIII|II |J_I
20 40 60 80 100 -0.02 5? —0.0256 —0.0255 -0.0254 —-0.0253 —0.0252 0 20 40 60 80 100 -2000  -1000 0 1000 2000
pattern_number yield_dsr pattern_number asym_dsr/ppm

run6585 000 pairTree dsr.png



asym_usl

asym_dsl

asym_usr

asym_dsr

: m | i ¥ —a5¢ i a | 7O
0.015 0.015 0.015
- —{40( - —(40( i —{&0l
- . - . -
0.01 —35( 0.01 . - —{35¢ 0.01
- - - —{50¢
- - . -
[ —{30¢ - O —30¢ -
[ [ o [
0.005— 0.005— 0.005— 40¢
[ [ O [
o o m = o 30(
| | Z 20¢
-0.005 -0.005 -0.005
| | | 10¢
B B 50 B
—0.01 —0.01 -0.01— m
_IllIIIIIIII|IIII|IIII|IIII|II _|IIII|IIII|IIII|IIII|IIII|IIII| i I|III|IIIIIII|III|III|III|III|III|III|III|III
—-0.01 -0.005 0 0.005 0.01 0.015 —0.0015 —0.001 —0.0005 0  0.0005 0.001 0.0015 (40.008.006.089.002 0 0.008.004.006.0080.010.018.014
asym_usl asym_dsl asym_usr
Y Y Y
2.0016~ _lase 2.0016~ 2.0016~
N n n [ |
- _ n —{35¢
[ B [ —{25¢ [
0.001 40¢ 0.001 0.001
[ —{35¢ B - —{30¢
[ - —{20¢ -
2.0005 2.0005H 2.0005H
_ —{30¢ - - —{25¢(
B m B B m
0 0 15( o= 20(
B B B 15¢
).0005 1.0005 10( 1.0005
B B B 10c
-0.001~ ~0.001~ 500 -0.001~
- - - 50
- | | - |
).0015 2.0015 2.0015—
I|IIIIIIIII|IIII|IIII|IIII|II _|IIII|IIII|IIII|IIII|IIII|IIII| I |I |IIIIIII|III|III|III|III|III|III|III|III
—-0.01 -0.005 0 0.005 0.01 0.015 —0.0015 —0.001 —0.0005 0  0.0005 0.001 0.0015 QE 006.004.002 0 0.008.004.008.0080.010.018.014
asym_usl asym_dsl asym_usr
nm)_[ -0c mmy —40( nmy
0.012F - 0.012F - 0.012F -
- - —{35¢ - 3
0.01F _eor 0.01F - 0.01F
— — . —
0.008 0.008 —30¢ 0.008 —30(
0.0061 . e 0.0061 0.0061
- - —25( - —25(
0.004 0.004 0.004
0.002F 0.002 200 0.002F 200
0F OF m ot
- » 15¢ - 15(
-0.002F -0.002F - -0.002F
-0.004 ~0.004 10( ~0.004 10(
-0.006 -0.006F -0.006F
- - 50 - 50(
-0.008 -0.008F -0.008F
_DLE”:I|IIIIIIIIIlIIIIlIIIIlIIIIlII _Dlﬂ:llllI|IIII|IIII|IIII|IIII|IIII| _Dlﬂ:III|III|III|III|III|III|III|III|III|III|III|III
—0.01 -0.005 0 0.005 0.01 0.015 030015 —0.001 —0.0005 0  0.0005 0001 0.0015 -ﬁ.mu.mﬂ.naﬂ.n@m.mz 0 0.008.004€.008.0080.010.018.014
asym_usl asym_dsl asym_usr
- - —{30¢ -
_ —{45( _ _ .
2.0015- 2.0015- 2.0015- _|a5¢
- —{40( - P -
0.001 0.001 0.001 —30¢
- —{35¢ - -
).0005 ).0005F e ).00051 —25¢
i i i o St
oF . ofF 15¢ 0 0
B B B 15¢
).0005 1.0005 1.0005
- - 10( -
- - - 10(
~0.001 ~0.001 -0.001
- - 30 - 50
).0015 - N 2.00151 'y N 2.00151 a kL
_I|IIIIIIIIIlIIIIlIIIIlIIIIlII _|IIII|IIII|IIII|IIII|IIII|IIII| _III|III|IIIIIII|III|III|III|III|III|III|III|III

run6585 000 asym _Dfi,l[gind%tn o ﬁ?ﬂtualféi;i'ﬂ?ﬁeiaf 0.001 0. ?ﬂg?C Oljza nﬁgﬁaﬁ .008.009.008. nnauggrgfﬁ 4

asym_dsr

B m _
0.015 4
i —40(
B [ |
0.005
ol
B [ |
[ =
~0.005
i 50
—0.01 " a
_I | | | I | I | I | | | I | | L1 11 | L1 11 | | I | I 1 11 D
—0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr
1.0015 —30(
B n
0.001— _logg
2.0005 oo
0= 15¢
B |
2.0005— Jo0
~0.001 0
i 0
1.0015
L1 | 11 11 I 111 1 | 1 111 | L1 11 | 11 11 | 111 1 I L 11 D
—0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr
nmy
0.012F -
- —35(
0.01
0.008 —30(
0.006
- —{25(
0.004F
0.002F 200
OF
: 15(
-0.002F
~0.004 10(
~0.006F
= 50
_0.008F
—D.ﬂ1: |I 1 11 I 1 11 1 | 1 1 11 | 1 1 1 1 | 11 11 | 1 11 1 I 1 11 D
~0.0015-0.001-0.0005 0 _ 0.0005 0.001 0.0015
asym_dsr
7.0015 u
- —{25¢
0.001
- —20¢
).0005F
of 15¢
2.0005 101
~0.0011
i 50¢
2.00151
B |I 1 11 I 1 11 1 | 1 1 11 | 1 1 1 1 | 11 11 | 1 11 1 I 1 11 D

—D.DD15 0.001-0.0005 0 0.0005 0.001 D0.0015
asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

run6585 000 asym

asym_usl

12 [ ndf

26.04 /23

p0 2.771e-08 £ 5.296e-07

P 0.9975 = 0.0003

0.005

-0.005

-0.01 =

-|I|IIII|IIII|IIII|IIII|IIII|III

-0.01  -0.005 0

asym_usl

0.005

0.01 0.015

0.6

0.4

0.2

=
T | T 1 | T
|
_'_ —_—
_'_

-0.2

-0.4

-0.6—

Cor factor

20.52 /23

-5.093e—-06 £ 1.933e-06

-0.0007168 £ 0.0011467

—-0.0080

#”Mﬁm

-0.01  -0.005 0

asym_usl

0.005

0.01 0.015

¥* / ndf

Cor factor

40.46 7 23
pO —1.083e—-05 + 9.042e-06

p1 0.5006 = 0.0055

0.5486

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

i

-0.01  -0.005 0

asym usl

0.005

0.01 0015

0.6

0.4

0.2

-0.2

1
I 1
[ E—

-0.4

-0.6

=
II|IIIIIII|III|III|III|III|III

¥ ndi
po

p1

Cor factor

19.81/23

-1.09%e-06 £ 224406

-0.0002067 £+ 0.0013398

0.0040

|

ﬁ%ﬁ«*ﬁﬂw |

T

-0.01 -0.005¢ O

nmaliil

det mu

0.01 0015

asym_ dsl

0.00
B 1=/ ndf 25.98 / 39
0 n{}q__ p0 2.37e-06+1.14e-05
B p1 —0.02595 £ 0.03901
0.003|- Cor factor ~0.0080
0.002
0.001 _
: | | Nﬂﬁmw . M
-0.001F }l
1 | L1 1 1 | L1 1 1 I L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 |
-0.0015 —-0.001 -0.0005 0 0.0005 0.001 0.0015
1= [ ndf 29.32 /39 -
po 3.497e—08 £ 5.533a-08 :-':
p1 0.9994 + 0.0002
0l
7.0005
~0.001| =
1ﬂﬂ15"‘|:'"l'"'I""l""l""l""l
-0.0015 —-0.001 -0.0005 0 0.0005 0.001 0.0015
¥ ndf 46.6 / 39
pO —6£.8882—-06 + 1.0B3e—-05
p1 0.01843 + 0.03745
Cor factor -0.0009
- | T u *
D__ J mH}“} R "H*l#h[
~0.001| |
-0.0021 ]
-0.003F
_I | L1 11 | L1 1 1 I L1 1 1 | | I | | | I I | | L1 1 1 |
—0.0015 —-0.001 —-0.0005 0 0.0005 0.001 0.0015

asym_dsl

¥2 / ndf 36.29 /39
p0 —B.62e 07 + 2.24e 06
p1 0.007211 + 0.007589
Cor factor

M

—D.Ef—

-m.af— _

—D.r-lf—

-0.5 :—

tual

. |
o bl

0.0015 —0.001

correlaﬁﬁh

0.0005

0.00

fit.png

asym_usr

72 | ndf

Cor factor

21.94 /28
po 5.47e-06 = 9.4%9e-06
pi 0.5513 £ 0.0061

0.5486

0.005

-0.005

=
T T 1 | T 1T 1 I T 1T 1 | T

-0.01 —-0.005 0

asym_usr

0.005 0.01

2/ ndi 25.29 / 28

p1 0.0008482 + 0.0012317

Cor factor

p0 —4.565e —06 + 1.936e 06

—-0.0009

0.2

[

o

-0.2

-0.4

-0.01 —-0.005 0

asym_usr

0.005 0.01

2 { ndf

26.33 /28

po 1.666e-07 £4.141e-07

p1 0.9979 £ 0.0003

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

-0.01 —-0.005 0

asym_usr

0.4

0.3

0.2

0.1

-0.1

-0.2

-0.3

-0.4

-0.5

¥/ ndi

31.55/28

p0 —-1.355e-06 £ 2.252e-06

p1 -0.0003509 £+ 0.0014125

Cor factor

-0.0074

-0.01 —-0.005 0

0.005 0.01

asym_dsr
¥/ ndf 32,02 /39
pO 4 602e—06 + 1.145e-05
p1 0.03363 £ 0.03433 )
Cor factor 0.0040 ]l ” |
ok [ |
- “ WW%W }
—0.001 } ]
_0.002
_0.003
—|||||||I||||||||||||||||||||||||I|||

—0.0015-0.001-0.0005

asym_dsr

0

0.0005 0.001 0.0015

¥2 | ndf 44.29 / 39
p0 _5.304e—06 + 1.930e—08
p1 0.005002 = 0.005726
Cor factor 0.0087
0.2 -
: h : bl
oF | WH !
—0.2 H "
0.4 -
—D_E_—rl||||||||||||||||||||||||||||||||||
—0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

0.002— B ¥/ ndf 27.45/ 39

- | B0 —6.926e—06 + 1.086e-05
0.001— } |

- p1 ~0.0463 + 0.0324

| { } Cor factor —0.0074

O % T

| G

_0.001 - }l

_0.002 -

-0.003
_||||||I||||||||||||||||||||||||I|||
—0.0015-0.001-0.0005 0 0.0005 0.001 0.0015

2.0015F
B Entries 300049

0.001
B - Mean -9.38%e -07
3.0005~ Meany -9.369e —07
D:— Std Dev 0.0003808

.0005 :_ Std Dev y 0.0003808

~0.001F =

1.0016 =
_||||||I||||||||||||||||||||||||I|||
—0.0015-0.001-0.0005 0 0.0005 0.001 0.0015



asym_usl

0.0151

0.011

0.005

asym_usl

-0.005—

-0.01

-0.01

—-0.005

asym_usl

J.0015
0.001

J.0005

asym_dsl

.0005
—-0.001

1.0015

0.01
0.012

0.01

0.008

0.006

0.004

0.002

asym_ usr a
— -0.002

-0.004

-0.006

-0.008

-0.01

0.015
asym_usl

-0.01

—-0.005

asym_ usl

0.015
asym_usl

-0.01

—-0.005

asym_usl

J.0015

0.001

J.0005

3 E— 1.0005

—0.001

1.0015

run6585 000 asym

0.015
asym_usl

-0.01

main

~0.005 ¢

D{}E

0.015

et mua

asym_dsl

0.0151

0.011

0.005

-0.005

-0.01

-0

0015 -0.001 -0.0005 O 0.0005 0.001
asym_dsl

asym_dsl

0.0015

J.0015

0.001

J.0005

2.0005

-0.001

J.0015

_|IIII|IIII|IIII|I

-0

0.01

L0015 -0.001 -0.0005 O 0.0005 0.001

asym_dsl

asym_ dsl

0.0015

0.012
0.01
0.008
0.006
0.004
0.002
0
-0.002
-0.004
-0.0086

-0.008

—D.GE]

-0.0015 -0.001 -0.0005 O

0.0005 0.001
asym_dsl

asym_dsl

0.0015

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

0.

tual

0015 -0.001 -0.0005 g 0.001

correla

Dﬂ[HE

asym_usr

0.0151

0.011

0.005

-0.005

-0.01

—-0.040.008.008.004.002 0 0.008.004.008.0080.010.018.014

asym_usr

asym_usr

J.0015
0.001

J.0005

J.0005
-0.001

J.0015

0.01
0.012
0.01
0.008
0.006
0.004
0.002
0
-0.002
-0.004
-0.0086
-0.008
—D.ﬂa

-0.040.008.008.004.002 0 0.008.004.008.0080.010.018.014

E'FE 060.004.002 0 0.008.004.008.0080.010.018.014

asym_usr

ylll usr

asym_usr

asym_usr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

—-0.040.008.008.004.002 0 0.008.004.008.0080.010.018.014

tion=scat.png

asym_usr

asym_dsr

0.0151

0.011

0.005

-0.005—

-0.01

—-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr

asym_dsr

J.0015

0.001

J.0005

2.0005

-0.001

J.0015

0.01
0.012
0.01
0.008
0.006
0.004
0.002
0
-0.002
-0.004
-0.0086
-0.008
-0.01

—-0.0015-0.001-0.0005 0O 0.0005 0.001 0.0015
asym_dsr

asym_ dsr

—D.D{HE—D.UM—D.UDDE 0 0.0005 0.001 0.0015
asym_dsr

asym_dsr

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

—D.D{HE—D.UM—D.UDDE 0 0.0005 0.001 0.0015
asym_dsr




